
(1)

sin
α+ β

2
− cos

γ

2
= sin

(

90
◦

−

γ

2

)

= cos
γ

2
− cos

γ

2
= 0.

(2)

tg

γ

2
+ tg

α+ β

2
−

(


tg

α+ β

2
+ 
tg

γ

2

)

= tg

γ

2
+ 
tg

γ

2
−

(

tg

γ

2
+ 
tg

γ

2

)

= 0.

(3)

sin
2
α+ β

2
+ 
tg

α+ β

2

tg

γ

2
− cos

2
γ

2
= cos

2
γ

2
+ tg

α

2

tg

α

2
− cos

2
γ

2
= 1.

(4)

cos
2
α+ β

2
+ tg

α+ β

2
tg

γ

2
+ cos

2
γ

2
= sin

2
γ

2
+ 
tg

γ

2
tg

γ

2
+ cos

2
γ

2
= 2.

(Paunz Arthur, Pé
s.)

A feladatot még megoldották: Babo
sai Gy., Cukor G., Csada I., Ehrenfeld N., Erd®s V., Felh®ssy J., Füstös P.,

Halmi O., Kir
hknopf E., Kiss J., Ková
s Gy., Lusztig M., Petrik S., Rosenthal M., Sárközy P., Sebestyén I., Tóth B.,

Wáhl V.

1


